SHARP

Worksheet 7 Memo- Trigonometry

Grade 10 Mathematics
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a) sin @ =£ b) sin a :E

AB AB
C) COSQ=E d) COS(X=£

AB AB
e) tan @ =£ f) tan a :E

BC AC
a) sin15° = ﬁ;ﬁ b) cos 15° = ﬁ:ﬁ
c) tanl5°=2-+3 d)  sin30°=>
e) cos30° = ? f) tan 30° = ‘[;’
9) sin45° = g h) cos45° = g
i) tan45° =1 ) sin 60° = ?
K) cos 60° = % ) tan 60° = /3
m)  sin75°= ‘/EZ‘/E n)  cos75° =Y 2
0) tan75° =2+ V3 p) sin90° = 1
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cos90° =0
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tan 90° = undefined




d)

9)

)

d)

SEAR )

sin 50° = 0.77
sin 40° = 0.64
sin 88° = 0.99= 1
sin 5° = 0.09

sin 23° = 0.39

sin a
= sin62°

= 0.88

sin (a —B)
= sin(62° — 28°)
= sin 34°

=0.56

cosa+sinf

= cos 62° + sin 28°
= 0.4695 + 0.4695
= 0.94

tan 3(a + B)
= tan 3(62° + 28°)

= tan 3(90°)

=tan 270°

= undefined

tan 3
= tan 28°
= 0.53

sin 8 =0.574
-~ 0 =35°

2sin®6=1.2
~sinB6=0.6

-~ 0=37° =~
U

b) cos 40°=0.77
e) cos 50° = 0.64
h) cos 88° =0.03

K) cos 5° =0.996 = 1

n) cos 23°=0.92

b) sin B
= sin 28°

=047

e) sin 2a

= sin 2(62°)
= sin 124°

=0.83

h) (cos a) x (sin B)

= (cos 62°) X (sin 28°)

= (0.4692) x (0.4692)

=0.22

k) tan(a — B)

= tan(62° — 28°)

= tan 34°

= 0.67

sin B —tana
=sin28° — tan 62°
= 0.4694 — 1.8807
= —-141

b) cos 6 =0.857
.~ 0=31°

e) 3cosB=15
~cos0=0.5
~ 0 =60°
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c)

f)

c) tan 50° =1.19
f) tan 40° = 0.84
i) tan 88° = 28.64
)] tan 5° = 0.09

0) tan 23° =0.42

C) sin(a + B)
= sin(62° + 28°)
=sin90
=1

.o a
f) sin

62°
2

= sin
=sin31°

= 0.52

cosf

__sin28°
" cos28°
_ 0.4695
~ 0.8829

= 0.53

sin’a + cos®a
= sin®62° + c0s%62°

=0.7796 + 0.2204

=1
tan 6=0.213
L~ 0=12°
2 tan 6 = 3.467
~tan 6=1.7335
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g

- 0= Géi

N =il




9)

)

d)

9)

SEARTEC™

2sin6-04=0 h)
~2sin8=04

~sinB=0.2

~0=12°

sin (6 -30°) = 0.242 k)
0 -30°=14°
-~ 0=44°

8 —s5°
2

oo

~0=90°

sin & b)

-~ cosec O

cot 34° b)

1
" tan34°

=1.48

cot 15° x

tan 15°

1
= X
tan 15° tan 15°

= (2++3)(2++3)

=7+4V3

=13.93

sec 45° x cosec 45° h)
_ 1 1

" cos45° sin 45°

=2 x 2

=2

2-5c080=0
~2=5cos0
~0.4=cosb
. 0=66°

cos 3(6 —10°) =0
~ 3(6 - 10°) = 90°
~0-10°=30°
~0=40°

2 cos (g— 10°) =0

sec 80 °
1
cos 80°

=5.76

2 sec 60

=2 (c05160°)

=4

cot 15° + sec 30°

_ 1 1
" tan15° cos 30°
=2+3+ %§
_ 6+5V3 — 489

3
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i) 9tan6-10=4

~9tan6=14

~tan 9= 1E
9

L 0=57°

) tan(20+15°) =3
~20+15=72°

. 20=57°
~ 0 =285 o0r29°

tan(6+20)
—Y =

~tan (6 +20°)=0.4

0) 0.1

- 0 +20° = 22°

~0=2°

c) tan

s~ cotd

c) cosec 53°
_ 1
" sin53°

= 1.25

1
cosec 30°

f)

i) cosec 25° -3
_ 1
T sin2s°

=237-3

= —0.63
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=
=
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10. a)
c b =25cm
B[ 1 a C=15°
tofindc—>%=sin€ tofinda—>%=cos€
~ sin 15°= 7 . cos15° = %
~25sin15°=c ~25c0s 15°=a
~C=6.47cm s~ a=24.15cm
And to find A— A+ 15° + 90° = 180°
~ A =180°-105°
~A=75°
b) D f=3cm E
(I ~tofinde > d>=e?+f
e d =5cm ~ (5)* = e% + (3)?
~25-9=¢°
~ 16 = ¢?
~4dcm=e
F -~ to find E—>%=cosE
g—cosE ~tofind F— 180° =F + 90° + 53.13°
-~ E=53.13° ~ F=180°-143.13°
G =30° i H ~ F=236.87°
C) L
~to find i — % =tanG
h g =16mm ~tan30 = 116
~16tan 30 =i
~1=9.24mm
|
v

~tofindh —» 22 =sinG
hyp

16

~ to find I — 180° =1+ 90° + 30°

M sin30° ~1=180°-120°
~ 16 = h sin 30° ~1=60°
16
" sin30°
~h= 32mm
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d) J = 94m K ~tofindj - 22 =tanL

adj
— ~ 2 = tan41°
]
k j %~ 94 = jtan41°
"'taz; =J
L =41° ~}=108.13m
:.tofindk—>%=sinL ~tofindJ— 180° = J +90° + 41°
2 =sin41° » J=180°-131°
~ 94 = ksin41° s J=49°
S 94 =
sin41°
~ k =143.28m (or you could use Pythagoras).
e) M = 35°
= to find 0Q — MQ? = MO? + 0Q?
N 84km - (84)* = (17)* + OQ?
17km - 7056 — 289 = OQ?
-~ 0Q*=6 767
~ OQ = 82.26km
ol 3km AH Q and -~ PQ = 82.26 — 3 = 79.26km
~ to find MN — ZT"; =cosM « to find ON — % =sinM . to find NP — ON*=NP?*+OP?
52 = 05 35° : 22 = sin35° » (9.75)%= NP? + (3)?
~ MN = 17 cos 35° ~ ON =17 sin 35° ~ NP? = 95,0625 -9
~ MN = 13.93km -~ ON = 9.75km ~NP? = 86.0625
~ NP = 9.28km
~ to find NQ — NQ = 84km — MN ~to find Q — Q = 180° - (90° + 35°)
~ NQ = 84km — 13.93km = 70.07km ~ Q=180°-125° = 55°
= to find QNP — 180° = N + 90° + 55° - to find ONP — 180° = N + 90° + 35°
~ QNP = 180° — 145° ~ ONP = 180° — 125°
. QNP =35° ~ ONP = 55°
~ to find NOP— 180° = O + 90° + 55° - to find MON — 180° = O + 90° + 35°
~ NOP = 180° — 145° ~ MON = 180° — 125°
~ NOP = 35° ~ MON = 55°
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vii)

sin® @ + cos? @ V) 2sinf
-+ =2(3)
16, 9 s
T 25 " 25 T~ s
=1

viii)  cosfB —sin6

3 -4
tan@ X cos@ =——(—)
5 5
-4 3 3 4
= — X - = - -
3 5 5+5
_ 4 -7
T 5 T s

cosf@ +sinf +tanf

-2+ (-9+(-

3 4 4
5 5 3
_9-12-20
- 15
_-23
T

D
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b)

ii)

Vi)

r2 =y? + x?
~r?=(-4)%+@3)°
w12 =25

~r=5
sin9=—=_?4
c059=—=%
tanf =2 =2
X 3

sinf + cos6@

-4
=—+

u|lw

3sinf + 2tand

-3(-9+2(3)

12 8
T 5 3
_ —36-40
15
-76
15




12.

13.

14.
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a) y b)
Q (\/7;2)
2
c)
X
-1 2
d)
1 -
i) cosec a i) cosa +tana
__1 X,y
- sina - T X
r 2, 2
~y BECRET
_ Ve _242V2
T2 T 2v3
_1+v2
G
1
V) sina
== Vi) cos?a — sin®«a
y
_ V6 _(V2) _ [(2)?
- -2
_2_4
6 6
vii) 222 = -2
sina
V2
= iX) cota
Ve
_E _ 1
G 2 ~ tana
_ 2 _x_2
T2 Ty 2

The special angles are: 0°, 30°, 45°, 60° and 90°.

a)

sin 30° + cos 60°

+

N |-
N |-

=1

r2 =y? + x?

002 = (22 + (vV2)°

0Q?>=4+2
0Q?=6
0Q = 6
tana =2
X
2
stana = -
~ a = 54.74°
. . —Z—i
i) sina ===
iv) 2sina
2
=2(3)
-4
G
vii)  cos?a +sin?a
_ (3L (2)?
-(%) +()
2, 4
=57
=1
X) tana X sina
2 2
= — X —=
2 Ve
-4
=37
—
VR

b) sin 45° + cos 45°

V2 2
=277

_ 2
o2

V2




c) sin 45° x cos 45°

2

~ |

e) tan 30° x sin 60°

B
3 2

31
T 6 2

9) €0s30°.sin60° + sin30°.cos60°

-(HE+6)6)

S
=1

i) sin® 30° + cos?30
- (&) + (D)
Sy
=1

D
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d)

f)

h)

)

tan 30° - sin 30°

V31
T3 2
_ 2y3-3

6

cos 90° + sin 90°

=0+1

=1

sin45°.sin45° - cos45°.cos 45°

-HE)-GE)

2
4

INITN)

I
o

2c0s%45° -1

-2( -1
291

= 1
4

0




